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19 The point (-5, 2) lies on the circumference of a circle, centre (0, 0).
(8) Find the squaton of th circe.

(6) Work out the gracient of the tangent o the circe t (5.2).
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17 Find the exact coordinates of the two intersections of the line y = 2x and the circle x* + y* = 30.

Notto scale
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17 The diagram shows a circle, centre the origin.

@

(b) Point P has coordinates (3, 6.
‘Show that point P lies on the cirle.

() Find the equation ofthe tangent to the circle at point P.
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25 The equation of acircleis % +)?=9

Work out the length of the diameter.

Circle your answer.
[1 mark]
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In this question, all lengths are in centimetres.
Ais a point on a circle, centre 0.

Bis a point on a different circle, centre 0.
AB=20

Not drawn
accurately

The equation of the larger circle s~ x +)7 = 144
radius of smaller circle : radius of larger circle = 4:5
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Work out the size of angle AOB.
15 marks]
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Acircle, centre O, passes through (5, 0).

What s the equation of the circle?

Circle your answer.
11 mark]
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Pis a point on the circle with equation  x* + )% = 80
Phas x.coordinate & and s below the x.axs.

‘Work out the equation of the tangent to the cicle at P

Not drawn

[ marks]
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28 ABandCarepointsonthecircle x°+)”=36 as shown.

Als on the y-axis.
Bis on the x-axis.

Mis the midpoint of AB.
COMis a straight ine.

28 (a)  Show thatthe coordinates of A are 0, 6)
11 mark]

28 () Work out the coordinates of 8.
11 mark]
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28 (c)  Show that the equation of the straight line passing through C, O and Mis  y=x
[2marks]

28 (@) Work out the coordinates of C.

Give your answers in surd form.
[ marks]
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Work out the

meter of the circle  * + 7 =64
Circle your answer.
11 mark]
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‘The diagram shows the circle  x* +

Plies on the circle and has x-coordinate 1
“The tangent at P intersects the x-axis at Q.

Not drawn
accurately

Work out the coordinates of Q.

15 marks)
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22 € 3 a carcle with cente the onigin
Amngent o C passs through the poias (-2

‘Work ot an equation of C.
You mustshow al you vorking

0240, 10)

(otal for Question 22 5 marks)
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22 The dingram shows  circe, centre O.

Pap

3050,

45 the gt o the cicle at the o 4.
Angle 054230

Point 5 has coedints (1, 0)
Point 7 has coedints .2)

Find the vale of .
Give your answe comect 01 decimal place.
You s show all you working.

.
(Tota for Queston 22k 4 marks)
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15 The cquation of a circl is x2+3° =
Find the radius of the circle.





image4.png
Va5 Nas
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{e) Showtath angent 0 i i at h pon (3, 6) has  gradent of &

(b) Find the equation of the tangent at the point (3, 6).
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14 The diagram shows a circle with centre (0, 0) and a tangent at the point (-12, 16).
I

12,16) I

The tangent crosses the y-axs atthe pon 0, ).

Find the valua of .
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21 In this question all units are in cm.
Acircle has equation x* + y* = 36.

(a) Write down the radius and centre of the circle.

(b) The distinct points A (a, ¥'11) and B (b, v/11) lie on the circumference of the circle.

Work out the length AB.




